Figure S1: DSC thermograms of (A) BsAb-1 and (B) BsAb-2 in PBS, pH 7.2. All domains in BsAb-2 unfold at
similar temperatures so the individual domain transitions are unresolved. The total AH for BsAb1 and
BsAb2 are similar.

140 =
BsAb-1 204 BsAb-2
120 4
280
_ 1004 —~
O O 240 4
B Ko}
© 80 5 200-
g " g
T 604 w 160 4
Q 4]
s <
S ol = 120 -
@] 8]
1 80 -
20 -
4 40 -
0 0 - ~
-20 T T T T T T T T T T 1 -40 T T T T T y T T T T 1
20 40 60 80 100 120 20 40 60 80 100 120

Temperature ("C) Temperature ("C)



